| N of simulated tracks vs dxy |

TrackingParticles

Ratio

=
o
~

......................

[
o
w

.....................

10?

H HIIH .. H I..Hul

1.UD H
I
|
I
I

0. 9520 -15 -10

................................................

...........

..................................

-5 0 5 10 15 20
TP dxy (cm)

N of associated tracks (simToReco) vs dxy |

Reconstructed TPs

Ratio

10 15 20
TP dxy (cm)

09555 i 0k

N of simulated track

—e— DQM_original_1000evt

TrackingParticles

—— DQM_fitted4_1000evt

—=— DQM_original_originalvector_1000evt

104 e R S SRR
a D G,
i Pl ..-

T S S
F : " : .
C - *.‘.

e - RS S R S
F o b :

10

LI IIIIII|
—

H
l

oo T """ Ly m” .
IR
VB T R R To T

30
TP dz (cm)

Reconstructed TPS

=
o
oS

10k

n I -I--I- 11 ] 11 I“I“

20 30
TP dz (cm)

10



	Contents
	Page 1


